—

T— 3R
O R&15 G i We ) & = B 7E /G
O4FRME G % 3 4FRH)
bWk o (SO FHIMHE)
N 1 BRES 1REHER . 1@’91@;&\ A
F  BAMBE| & F | 0. 1ppm# | 0.04ppm % | 1 ERE | ARSED 2BNLEGLT E O H 8
AE B B # ¥ E | EirBE4L gAY NERE PURAE 0. 04ppm % BT
E QEE] QEE] BikILORE
(B) (ppm)  |(BFRD|[ ) | (B) | (%) | (opm) | (ppm) | Hx - &£O | (EHO-KERY)
H25 363 0. 001 0 0.0/ O 0.0 1(0.022| 0.004 @) O
¥$E H26 362 0.001 0 (0.0 O 0.0]0.034| 0.005 @) O
H27 363 0. 001 0 0.0/ O 0.0 (0.021| 0.004 @) O
_ |H25 363 0. 001 0 (0.0 O 0.0 0.035| 0.004 @) O
;;éi H26 363 0.001 0 (0.0 O 0.0 ]0.035| 0.005 @) O
H27 363 0. 001 0 (0.0 O 0.0 0.020| 0.003 @) O
—[BbEF (NO : FR1fH)
T BxhBlE 1 BFREE FHDO1BAEY
HER B % AEEH FrOE DEEE | D 98%IE
& (8) (FFRE) (ppm) (ppm) (p pm)
H25 364 8,718 0.002 0.095 0.014
ﬁfig H26 361 8,674 0.002 0.075 0.008
H27 364 8,720 0.002 0.076 0.008
H25 363 8,696 0.004 0.200 0.021
AZA—BHE7
2B % H26 363 8,699 0.003 0.070 0.011
H27 363 8,701 0.002 0.095 0.011




T E#HE (NOs : AFHHE)

1RFYEN 1REHER FRD .
-3 0. 06ppm % 0. O4ppm Kit| 1 BRAME | 1 B Fy RRLE
. B 7E B FEHIE L o & D
BIER #ikR%e (0. 06ppm UT| D == (B ED )
E EE NBHLE0EA 98% fE
(B§E) (ppm) (B) | Co) | (B) | (%) (ppm) (ppm) | (EHO-®ERx)
H25 8,718 0.011 0 0.0/ 0 [0.0] 0.061 0.023 o)
ﬁffﬁﬁ H26 8,674 0. 009 0 0.0/ 0 [0.0] 0.046 0.018 o)
H27 8,720 0. 009 0 0.0/ 0 [0.0] 0.043 0.019 o)
_ _|H25 8, 696 0.013 0 0.0/ 0 [0.0] 0.067 0.029 o)
;;gi H26 8, 699 0.012 0 0.0/ 0 [0.0] 0.046 0. 021 o)
H27 8,701 0.011 0 0.0/ 0 [0.0] 0.046 0.023 o)
R IRME (S PM @ F[H1{H)
\ \ 131
| | AR | MO e
HEHAEE | & F [0.20m/ m*|0. 10w/ m® 1 B o i
*l ax o | eereamme | seiene | O |mo oy | oA ) C DR
BER - - B 1= 1B B 5h i 2 BULER | (REMFE)
B LkCEDE-B
(B) (mg/m) | (BE) | (%) | (B) | (%) | (mg/m) | (mg/m) | (Fx -8O) |(EHO- XEHX)
- H25| 361 0.027 6 [0.1| 3 |0.8] 0.258 | 0.065 x x
chasg |H26| 364 0.026 0 [0.0] 0 |[0.0] 0.197 | 0.064 o) o)
H27| 359 0.023 0 [0.0| 0 [0.0[ 0.171 | 0.053 o) @)
_ |H25| 361 0.024 5 [0.1] 1 |[0.3] 0.305 | 0.059 O x
;;gi H26| 361 0.023 0 |[0.0] 0 [0.0] 0.174 | 0.053 o) o)
H27| 355 0.022 0 [0.0] 0 |0.0] 0.186 | 0.050 o) @)
H25| 358 0.023 0 0.0/ 0 [0.0] 0.156 | 0.051 O o)
i;f; H26| 361 0.019 0 0.0/ 0 [0.0[ 0.150 | 0.037 O o)
H27| 317 0.021 2 0.0/ 0 [0.0]| 0.559 | 0.048 O @)
ZH/ |H25 262 0.026 8 [0.1] 1 [0.4]0.289 | 0.111 O x
B H25 70 0.028 0 [0.0| 0 |[0.0] 0.133 | 0.070 O
;%ﬁ H26| 358 0.026 2 0.0/ 0 [0.0| 0.254 | 0.062 O x
H27| 357 0.024 0 [0.0] 0 |0.0] 0.198 | 0.054 O o)




WoNRLFIRmE (PM2. 5 E1H)
. BHEHIED IR
HMEE | & T |BIYENS5 0uy/mPt| 1 BERIED momE=
Fl oam ¥ 18 gireseon: | mmm | o0E £OLR
> AAIC [ B 8 .
82 R i > (EHBEE)
E (R) (gg/m®) €:)) (%) (1g/m®) (ug/m*) (EHO - #Ef x)
H25 361 19.3 31 8.6 101.0 48.0 X
o™
s |H26 360 19.0 24 6.7 226.0 442 x
H27 362 16.9 14 3.9 130.0 37.0 x
H25 91 21.5 11 12.1 90 43.5
A xHh
s [H26 358 19. 4 25 7.0 262 40. 4 X
H27 362 17.1 12 3.3 169 37.2 x
— H25 70 17.2 6 8.6 82 42.0
g |H26 356 19.3 26 7.3 290 441 x
H27 362 18.0 16 4.4 173 41.0 x
YAl FEFF A (O x : AFERE)
. Eljli E‘ 'Ff]' BEO 1 BREEN BREO 1 H':'ffaiﬂﬁf)‘\\ R E D %FEIE] NDHK i
A% B BITE | B % |0. O6ppm% | 0. 12ppmit| 1RFREIME | = 1 BREHE .
Vi ] . X
= B | B R | BALBHCERE | ORNLEBEY NS IE DEFHE
=1 (B (KR (B) | (@) | (B) | (B (ppm) (ppm) (ERO - ®EH x)
- H25| 365 | 5,462 | 58 | 274 | 0 0 0.101 0.043 x
chasgs (H26| 365 | 5,453 | 87 | 530 | 0 0 0.104 0. 049 x
H27| 366 | 5,460 | 104 | 503 | 0 0 0.101 0. 050 x
H25| 365 | 5,463 | 85 | 477 | 0 0 0.113 0.048 x
22— 3 E
7 sy |H26| 365 | 5,461 | 83 | 471 0 0 0.100 0.048 x
H27| 366 | 5,455 | 79 | 386 | 0 0 0.097 0.047 x
H25| 362 | 5,412 | 79 | 441 0 0 0.117 0.048 x
HE#
o H26| 365 | 5,449 | 78 | 458 | 0 0 0.104 0.048 x
F ™R
H27| 366 | 5,475 | 88 | 427 | 0 0 0.105 0. 049 x
ZE/D |Ho5| 292 | 4,345 | 84 | 516 | 0 0 0.114 0. 050 x
__|H25| 71 1,050 | 11 42 0 0 0.081 0.048
masnge [H26| 359 | 5338 | 78 | 394 | 0 0 0.108 0.048 x
H27| 366 | 5,474 | 122 | 684 | 0 0 0.104 0. 054 x

W) FEMo 1 BEHME- 1 EMICDRED 1B 1 B EYHE
2 % BRAME-AFMO 1T A EHHEOEN T D 2 %DOHEANIZH 5 b O EERWT-% O & E
98%fHE - FM D 1 AEEHEOLNE S 22D 8% DHEANIZH 2 b DD 5 b D EfE
B 5N 20ETE VD




@ H filfE

“ERIELNES(SO2: ARIE)

HARE: 2015448 ~ 201643 H

BIE B AIEIEHE 4A | 5 A | 6B | 7R | 8B | 9B |10A [11A | 12R | 1A | 2R | 38 | R&&t
W AR AMBEB# 30 31 30 31 31 29 31 30 29 31 29 31l 363

B 7E BFfE 716 742 717( 739 736 713| 742 718| 718 741 692 742| 8716

B (ppm) 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.002| 0.002| 0.001

1B AY0.1ppmZ B X F= B fE1 3K 0 0 0 0 0 0 0 0 0 0 0 0

1B H{EA0.04ppmZEFEZ 1= B 0 0 0 0 0 0 0 0 0 0 0 0

185 fEE D &= = B (ppm) 0.018| 0.018| 0.015| 0.008 0.019| 0.021| 0.009( 0.009| 0.009| 0.007| 0.010| 0.012

1B BN i {E(ppm) 0.004| 0.004| 0.003| 0.003| 0.004| 0.005| 0.003| 0.002| 0.003| 0.003| 0.004| 0.002
A—BET7ABXK|EMAEBH 30 31 30 31 31 30 31 29 29 31 29 31l 363

R 7E B R 718 742| 717| 739 738 718| 742| 712| 709 742 694| 742| 8713

4B (ppm) 0.001| 0.002| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.002| 0.001| 0.001

185 A30.1ppm%Z 48 2 1= B a1 21 0 0 0 0 0 0 0 0 0 0 0 0

1B FEHEH0.04ppmZEEZ B 0 0 0 0 0 0 0 0 0 0 0 0

185 E D &= = B (ppm) 0.020| 0.020| 0.014| 0.009( 0.014| 0.012| 0.007| 0.007| 0.005| 0.005| 0.009| 0.010

1B EHED &S E(ppm) 0.004| 0.004| 0.002| 0.003[ 0.003| 0.003| 0.003| 0.002| 0.002| 0.002| 0.003| 0.002




— b= = (NO: AREIME)

HARE: 2015448 ~ 201643 H

BIE B AIEIEHE 4A | 5 A | 6B | 7R | 8B | 9B |10A [11A | 12R | 1A | 2R | 38 | R&&t
W AR AMBEB# 30 31 30 31 31 30 31 30 29 31 29 31| 364
B 7E BFfE 717)  742| 717| 740 736 718| 742| 717| 714 742 693| 742| 8720
B (ppm) 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.003| 0.004| 0.003| 0.002
185 O £&% = B (ppm) 0.013| 0.007| 0.011| 0.015| 0.016| 0.013| 0.020[ 0.019| 0.056| 0.066| 0.076| 0.033
1B EHED RS E(ppm) 0.002| 0.001| 0.002| 0.005 0.003| 0.002| 0.005| 0.006| 0.014| 0.021| 0.013| 0.006
A—BET7ABXK|EMAEBH 30 31 30 31 31 30 31 29 29 31 29 31l 363
R 7E B 718 741| 715| 738 738 716| 739 711| 714 740 692 739| 8701
T 4B (ppm) 0.001| 0.001] 0.001| 0.002] 0.001| 0.001| 0.002| 0.002| 0.005| 0.005| 0.004| 0.002
185 E D &% = B (ppm) 0.015| 0.014| 0.008| 0.015| 0.017| 0.020| 0.029| 0.031| 0.095| 0.076| 0.072| 0.062
1B EHED &S E(ppm) 0.002| 0.002| 0.003| 0.006( 0.003| 0.003| 0.005( 0.008| 0.020| 0.030| 0.014| 0.010




“EEEZR (NO2: ARElE)

HARR : 2015548 ~ 201643 A

BIE B AIEIEHE 4 | 5A | 6A | 7TA | 8A | 9A |1W0A | 11A | 12A | 1A | 2B | 3R | &&t
W AR AMBEB# 30 31 30 31 31 30 31 30 29 31 29 31 364
B 7E BFfE 717| 742 717| 740 736 718 742 717| 714| 742 693 742| 8720
14 {iE (ppm) 0.008| 0.007| 0.008| 0.006| 0.006| 0.008| 0.010| 0.010| 0.012| 0.013| 0.013| 0.010
15[ O £% = B (ppm) 0.028| 0.024| 0.034| 0.026| 0.026 0.027| 0.035| 0.032| 0.037| 0.042| 0.043| 0.034
1B HED &S E(ppm) 0.012| 0.012| 0.014| 0.013| 0.011| 0.014| 0.014| 0.015| 0.021| 0.027| 0.024| 0.017
185/ H30.2ppm%Z 8 2 T BRI 5 0 0 0 0 0 0 0 0 0 0 0 0 0
185 A%0.1ppm L £ 0.2ppm EL T D B 4k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FEHEAH0.06ppmZTEZ B 0 0 0 0 0 0 0 0 0 0 0 0 0
1 H F4{EHY0.04ppm L _E£0.06ppm LT D B 1 0 0 0 0 0 0 0 0 0 0 0 0 0
ZA—BET ADAEBH 30 31 30 31 31 30 31 29 29 31 29 31l 363
ABXK B 7€ BF A 718 741| 715 738 738| 716| 739 711| 714] 740 692 739] 8701
14 {iE (ppm) 0.010| 0.009| 0.009| 0.007| 0.007| 0.009| 0.012| 0.011]| 0.014| 0.014| 0.015| 0.012
185 {E D &% = B (ppm) 0.035| 0.029| 0.041| 0.028| 0.023| 0.028| 0.035| 0.033| 0.039| 0.039| 0.046| 0.040
1B HED &S E(ppm) 0.014| 0.016] 0.015| 0.014| 0.012| 0.013| 0.019| 0.016] 0.024| 0.026| 0.028| 0.023
18581 A30.2ppm% #B 2 1= B A1 28 0 0 0 0 0 0 0 0 0 0 0 0 0
18RS HY0. 1ppm L _£0.2ppm BL T O B RS 51 0 0 0 0 0 0 0 0 0 0 0 0 0
1B F#{EA0.06ppmZE 2 Z 1= B 0 0 0 0 0 0 0 0 0 0 0 0 0
18 FHEHY0.04ppm L _E£0.06ppm LT D H £4 0 0 0 0 0 0 0 0 0 0 0 0 0




=R Y (NOx: AE{E)

HARE: 2015448 ~ 201643 H

BIE B BIEIEHE 4A | 5SA | 6B | 7R | 8B | 9B |10A [ 11A | 12R | 1A | 2R | 38 | R&&t
W AR AMBEBH 30 31 30 31 31 30 31 30 29 31 29 31| 364
B 7E BFfE 717)  742| 717| 740 736 718| 742 717| 714 742 693 742| 8720
4B (ppm) 0.009| 0.008| 0.008| 0.008| 0.007| 0.009| 0.011| 0.011| 0.015| 0.017| 0.016| 0.012
15[ {iE O £&% = B (ppm) 0.041| 0.028| 0.035 0.038| 0.032| 0.028| 0.037| 0.041| 0.075| 0.088| 0.119| 0.060
A {ED &= E(ppm) 0.014| 0.013| 0.015 0.016| 0.014| 0.015 0.018| 0.020| 0.035| 0.048| 0.037| 0.021
AT{E NO2/(NO+N02) (%) 91.6] 935 915 824| 878| 907 896 870| 774| 77.7| 806| 864
A—BETABXK|EHBIEBH 30 31 30 31 31 30 31 29 29 31 29 31l 363
B 7E B el 718| 741 715 738| 738| 716 739 711| 714| 740 692| 739] 8701
B (ppm) 0.011| 0.010| 0.010| 0.009| 0.009| 0.010| 0.013| 0.014| 0.019| 0.019| 0.019| 0.015
185 EE D &= = B (ppm) 0.050| 0.036] 0.045| 0.033[ 0.039| 0.042| 0.055( 0.058| 0.134| 0.106| 0.104| 0.102
A FEH51E D &= B(ppm) 0.015| 0.018| 0.018| 0.016| 0.014| 0.015| 0.023| 0.023| 0.044| 0.055| 0.042| 0.027
AT{E NO2/(NO+NO2) (%) 90.1| 915 89.7| 80.3| 855| 880| 87.4| 844| 746| 752 775| 849




FlERFIRYE (SPM: ARE{E) H370: 201544 5 ~ 201643 5

CRIE S AEIER 48 | 58 | 68 [ 78 [ 88 | 98 |wA | 11A [12B [ 1B | 28 | 38 | #it
Y R R AR AxhAI%E B 30 31 28 29 31 29 31 30 29 31 29 31] 359
B 7 B 719] 743] 700| 714] 736 714| 742 719] 715 743| 695 743] 8683
1B (mg/m3) 0.026 0.028] 0.025] 0.022 0.025| 0.018] 0.024| 0.017| 0.024] 0.028| 0.023| 0.023
1B 530.20mg/m3% B Z =R R 3 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FEHEH0.10mg/m3ZEB A=A 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B i 0D Bz = fB(mg/m3) 0.076| 0.070] 0.171| 0.089] 0.087| 0.068| 0.067 0.059] 0.099] 0.108| 0.080| 0.057
1B EH{ED &S E(mg/m3) 0.053] 0.047] 0.062] 0.050] 0.059| 0.043] 0.047] 0.030] 0.055| 0.054| 0.053| 0.040
Z—BETAZXK|EBIEBH 30 31 30 28 26 30 31 29 29 31 29 31] 355
pilbaticdil 719  743] 719] 704 634 718] 742 714 712] 743 695 743] 8586
1 {iE(mg/m3) 0.023| 0.025] 0.024| 0.018[ 0.024]| 0.017] 0.024| 0.016] 0.021] 0.025 0.022 0.023
1B 5%0.20mg/m3% FB Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
18 FEHEH0.10mg/m3%E B Z 1-HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1R D £z = fB.(mg/m3) 0.149] 0.064] 0.186] 0.060[ 0.099] 0.051] 0.078[ 0.062] 0.138] 0.111| 0.078] 0.103
1 B EH{ED &= E(mg/m3) 0.045] 0.038] 0.052| 0.040| 0.067| 0.038] 0.048] 0.032] 0.050] 0.054]| 0.053| 0.047
AEAdER  |[BAEAHK 30 31 30 31 16 0 29 30 29 31 29 31] 317
B E BFE 719 743] 719 737[ 393 ol 707[ 719] 712 741 695| 742] 7627
I 141E(mg/m3) 0.019] 0.022] 0.020] 0.020] 0.026] x| 0.023] 0.015| 0.021| 0.024| 0.020] 0.023
1B 530.20mg/m3% B A =R R 3 0 2 0 0 0 0 0 0 0 0 0 0 2
1B EH{EH0.10mg/m3% B2 -BH 0 0 0 0 0 0 0 0 0 0 0 0 0
1R E D & = fB(mg/m3) 0.065| 0.559| 0.129] 0.150[ 0.072| =xx| 0.072| 0.069] 0.122]| 0.113| 0.084[ 0.072
1B EHED HE fE(mg/m3) 0.030 0.060] 0.037] 0.036] 0.049] #*xx| 0.043| 0.034] 0.059] 0.052| 0.050] 0.048
=R AAIEB# 30 31 30 29 26 30 31 30 29 31 29 31] 357
B E BFE 718 742 718 713 640 717 742 719 712] 743 695 743] 8602
3 ¥ {E(mg/m3) 0.026| 0.029] 0.027| 0.023[ 0.026] 0.019] 0.026( 0.018] 0.024] 0.027| 0.023| 0.024
1EFRIHY0.20mg/m3% #8 Z =B el &k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B EHEH0.10mg/m3%ZBAT-B 0 0 0 0 0 0 0 0 0 0 0 0 0
1B E D Bz = fB.(mg/m3) 0.100[ 0.116] 0.198] 0.092 0.113] 0.074| 0.104] 0.121] 0.133] 0.113] 0.091] 0.077
1 B EH{ED &S E(mg/m3) 0.054] 0.046] 0.064| 0.044| 0.070] 0.042] 0.053| 0.040] 0.058| 0.060| 0.053| 0.050




FALZAF A (Ox: AREIE)

HARE: 2015448 ~ 201643 H

BIER BIEIER 48 | 5A | 6A | 7TAE | 8B | 9A |10A |11A |12R | 1B | 2B | 3R | &&t

W AR BREIDAIE B 30 31 30 31 31 30 31 30 31 31 29 31| 366
BE I 7E B 3K 450 465 448| 463| 459 448 463 449| 463| 463| 430 459] 5460
BRED16HEED A F1E(pm) 0.043| 0.051| 0.041| 0.026| 0.034| 0.037| 0.038| 0.026| 0.021| 0.023| 0.030| 0.039
B0 18R EH0.06ppmZE B Z - B %k 14 26 13 4 13 9 15 2 0 0 0 8l 104
B8] O 1 BF [ {E 5Y0.06ppmZ B 2 1= B 1 3K 79 170 66 10 41 29 66 3 0 0 0 39| 503
R0 18 REEHY0.120pm L _E D B #1 0 0 0 0 0 0 0 0 0 0 0 0 0
B D18 REEAY0.120pm LA _E D BEE 5K 0 0 0 0 0 0 0 0 0 0 0 0 0
BE D185 E D &= fE(ppm) 0.088| 0.101]| 0.090| 0.067(0.085 | 0.073| 0.077| 0.067| 0.048| 0.057| 0.056| 0.081
BRE D &= 1R EED F 1 {E(ppm) 0.057| 0.070| 0.057| 0.038[ 0.054| 0.054| 0.058( 0.040| 0.035| 0.036| 0.044| 0.055

A—BET7ABXK|BREDBIE B 30 31 30 31 31 30 31 30 31 31 29 31| 366
B[ A 7E e 31 450 464| 449| 463| 461| 449 462| 444| 463| 463| 430 457| 5455
BRED18:5EED B F{E(ppm) 0.042| 0.049| 0.039| 0.026 0.031| 0.034| 0.035 0.023| 0.020| 0.022| 0.028| 0.035
BRE D18 EEAN0.06ppmZ B A - B 11 25 10 2 10 5 11 1 0 0 0 4 79
R D 185 R E HY0.06ppm % #B X 1= R R 1 80| 150 42 7 26 14 42 1 0 0 0 24| 386
B D1 FFREMEAHN0.12ppm L LD B 0 0 0 0 0 0 0 0 0 0 0 0 0
RS D18 RAE HY0.12ppm LL £ D BEFE %k 0 0 0 0 0 0 0 0 0 0 0 0 0
BE D185 E D &= = fB(ppm) 0.091| 0.097| 0.094| 0.069| 0.076| 0.067 | 0.073 | 0.062| 0.047| 0.057| 0.057| 0.082
BE D& 185 HEO T 19E(pm) 0.056| 0.068| 0.056| 0.038[ 0.049| 0.050| 0.055 0.036] 0.033| 0.034| 0.043| 0.051




FALZAF A (Ox: AREIE)

HARE: 2015448 ~ 201643 H

BIER BIEIER 48 | 58 | 6B | 7B [ 8B | 9A |1w0A | 1A |12A | 1B | 2B | 3R | &&t

=R BREIQRIE B 30 31 30 31 31 30 31 30 31 31 29 31| 366
BRE DB TE B 3K 450 465 450 465| 462| 449 464 450 465| 465| 431 458| 5474
BREID1BREED B F 1 (ppm) 0.049| 0.053| 0.044| 0.029| 0.036| 0.040| 0.039| 0.029| 0.028| 0.031| 0.037| 0.046
BRE D 1BREMEN0.06ppmZ B A - B 17 27 15 3 11 12 15 2 0 1 2 17] 122
B D 18R EAH0.06ppm%Z 8 2 - B85k 128] 194 85 12 49 37 72 7 0 4 6 90] 684
B0 18R EAY0.120pm L £ D B % 0 0 0 0 0 0 0 0 0 0 0 0 0
R D18 REMEAHY0.12ppm L _E D BERE 5k 0 0 0 0 0 0 0 0 0 0 0 0 0
BE D1 REMED &= {E(ppm) 0.092| 0.104| 0.090| 0.074| 0.090( 0.068| 0.083| 0.072| 0.055| 0.065| 0.064| 0.086
B D iz 1 R iE D F 19 B (ppm) 0.063] 0.072| 0.060| 0.042 0.055| 0.056] 0.060| 0.044| 0.042| 0.044| 0.051| 0.062

HEAdZER |BEOBIEBH 30 31 30 31 31 30 31 30 31 31 29 31] 366
BB A E B 3K 449| 465 450 462| 463| 450 465| 450 465 464| 433| 459| 5475
BEID18FREED B F191E(ppm) 0.045| 0.052| 0.040| 0.030( 0.035| 0.035| 0.037| 0.026] 0.021| 0.024| 0.030( 0.038
BRI D18 EMEN0.06ppmZ B A - B 12 24 10 3 13 6 13 0 0 0 0 7 88
RS D1 BEFRSME HY0.06ppmZ 48 Z 1= B s 4K 83| 163 46 7 37 23 43 0 0 0 0 25| 427
RS D1 EFRSME HY0.12ppm LA _E D B 21 0 0 0 0 0 0 0 0 0 0 0 0 0
RS D1 EFRSME HY0.12ppm KL b 0D B RS 4k 0 0 0 0 0 0 0 0 0 0 0 0 0
B D18 REMED &= {E(ppm) 0.086| 0.105| 0.096| 0.068 0.092| 0.084| 0.075| 0.056| 0.046| 0.057| 0.053| 0.080
B D &= 1 BB D F 19 B (ppm) 0.059] 0.070| 0.055| 0.042 0.054| 0.052| 0.056| 0.038| 0.034| 0.036| 0.043| 0.053




MWUMLY E (PM2. 5: AREHE) £37:201544 5 ~201643 7

BIE B BIEIER 48 | 5B | 6A | 7B | 8B | 9A |1W0B |(11A|12B | 1B | 2B | 3R | &&t
W R AAIEBH 30 31 30 29 31 30 31 30 31 29 29 31l 362
B 7E B 718 743 719 711 735 719| 742| 719| 743| 713 695 743] 8700
FHE( U g/m3) 177 207 182| 133| 170 135| 190| 124 165| 199| 172 175
1HEHEDRSE( L g/m3) 324 | 333| 454 | 297 443 279| 423| 237| 446 370 454| 312
1B FEHEA35 1 g/m3ZBA-BH 0 0 4 0 1 0 4 0 1 3 1 0 14
1B FHEA35 1 g/m3ZE B R 1=F| & (%) 00 oo| 133| 00| 32| oo0f 129| 00| 32| 103| 34| 00
1R B D =& E( 1 g/m3) 63 51 130 45 56 43 61 49 90 87 70 48
=HPER AAIEB# 30 31 30 29 31 30 31 30 31 29 29 31l 362
B 7E B el 7191 743|719 712 740 718| 742| 719 743 712 695 743] 8705
T E( 1 g/m3) 178| 226 194 135 17.4| 140| 215 144 195 208| 17.3| 176
1BEHEDREE(Lg/m3) 33.0| 406| 51.8| 280 458| 29.4| 485 279| 53.1| 410 422 318
1HFEHEA35 1 g/m3EBA-BH 0 2 3 0 1 0 4 0 2 3 1 0 16
1B F¥EA3S 1 g/m3ZE B R 1=F| 5 (%) 00| 65/ 100[ 00| 32| o00f 129 00| 65 103] 34 00
1R EE DR E B¢ g/m3) 58 92 173 40 60 58 75 103| 124 86 74 47
AEhAPER  |AATEAHK 30 31 30 29 31 30 31 30 31 29 29 31 362
B 7E B el 719 743| 719| 712 743 719 742 719| 743| 712 695 743| 8709
FE( 1 g/m3) 17.7) 203| 176 132| 162 140 198| 126 175 198| 178 185
1BEHEDREE(L g/m3) 335 330| 40.7| 298| 395| 287 374 254| 47.7| 384 431| 321
1HFEHEA35 1 g/m3EBA-BH 0 0 2 0 2 0 4 0 2 1 1 0 12
1B FEHEASS5 1 g/m3ZE B A T-EIE(%) 00| o0 67 00| 65 o00f 129 00| 65 34 34 00
1R REED = EE( 1 g/m3) 63 50 121 64 56| 169 67 57 107 82 71 88




(2) HERKIGLYERERBRCEK 2 745 W 2R E B CHlE) BT ug/m
HIEE I %/J\@?’%E%ﬁ% gum BREE HL i
NPy 1.1 0.55 1.7 3
U A=R= S % 0.055 (0.032) 0.091 200
FhIFrupzFLo 0.062 (0.026) 0.099 200
A== % % 0.82 0.37 1.6 150

OWFNOWE b 12 [MOHFE
KOE R T IRMEA R H FIRMELL i (Bfi|) & &

et T BRIEA L (<R FRRE) & 3KAD




